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The peptide bond is
(@ -NH

(b) —-NH-CO-
(c) —COOCH

(d) —NH-COOH
(e) —NH-NH-

W BRI (pH), A — ) 1 B 2 IE A 11

(@) pH M EHEBTPEE T HRE

(b) —NEAL pH I ECARZE T 10 (5 A TR B ) e AR
() & & FIRERINERR pH {E >

(d) UL g%

(e) VLLEE

Which of the following statements about pH is (are) true?
(@) pH is a measurement of hydrogen ion concentration.
(b) Asingle unit change on the pH scale is equivalent to a 10 times change in hydrogen
ion concentration.
(c) Anincrease in hydrogen ion concentration means a decrease in pH scale units.
(d) All of the above are true
(e) None of the above is true.

2 ) A R

(8) A= B EH M (membrane) T2

(b) RAFAERZA" (nucleolus) N

(C) &4 PN A KA (ribosomes) 43+ i 1Y) X 5
(d) S H4HHEHIDNA

(e) R b Al d@&xf

The nucleus of a cell
(@) s surrounded by a single layer of membrane.
(b) is contained within the nucleolus.
(c) is the region of the cell where ribosomes are degraded.
(d) contains the DNA of the cell.
(e) bothbandd.

JEE I (pancreas) f 3= E T AL A HI (T 2

(@) B4 AkEE (digestive enzymes)AlTiH 2 (bile salt)

(b) “=7= LB # (bile salt)

(c) ‘ErFAETHALEE(digestive enzymes) FlF & IR FR & 2 (bicarbonate) ¥
(d) B4 S IR S SR B R (mucus)

(e) ‘& PhrBhAE[EEE (cholesterol) [r)4

What is the main digestive function of the pancreas?
(@) It produces digestive enzymes and bile salts.
(b) It produces bile.
(c) It produces digestive enzymes and a solution rich in bicarbonate.
(d) It produces bicarbonate-containing mucus.
(e) It aids in the control of cholesterol.
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I8 —Fh S WEEE AR (glycolysis) i) 45 R
(@) *t FAD At )i FADH,
(b) =4 CO,
(€) HA—ANHIENE T A =Bk &5 1 (three-carbon compound)
(d) ‘ARSI ATP
(e) K5 NADH #:75i NAD"

Which of the following is a result of glycolysis?
(@) reduction of FAD to FADH,
(b) production of CO,
(c) conversion of glucose to two three-carbon compounds
(d) anet consumption of two ATPs per glucose molecule
(e) conversion of NADH to NAD"

W 72 SR IR N AT H ik B AR A
(@) &R (gas exchange)

(b) ¥ EER (diffusion)

(c) MU (breathing)

(d) WIEEIRAER] (internal respiratory)
(e) ¥ UHRACH (air metabolism)

The process of moving air in and out of the lungs is called
(@) gas exchange
(b) diffusion
(c) breathing
(d) internal respiration
(e) air metabolism

W 7K 3 7 R D AR 5 3 (xylem) A b AR ) P b g
(a) 775 Jy(transpiration) AR & (root pressure)
(b) HLEFNPIEE J7(cohesion force)

(c) WEAMZERAS]
(d) FzhizHi(active transport) Fl A 5 77
(e) Z&BAE5| JIFIE4HE /E FH (capillary action)

The two main forces that move water upward in xylem are
(@) transpiration and root pressure
(b) root pressure and cohesion force
(c) transpiration and cohesion force
(d) active transport and cohesion force
(e) transpiration and capillary action
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8. NI A2 2H 4 % (histamine) 1 37 BI/E A 2
(@) SR ALY 5K (dilate)
(b) Sl mHE M ™R (leakier)
(c) IEhINER A Xk ki &= (blood flow)
(d) HhnfkIE (systemic blood pressure)
(e) SliEREHHLAK (swelling)

Which of the following is not an immediate function of histamine?
(@) causing local blood vessels to dilate
(b) causing local blood vessels to become leakier
(c) increasing blood flow to the area
(d) increasing systemic blood pressure
(e) causing local swelling of the tissue

9. HF/NEK (glomerulus) AT T YERS, T AT E AN 2 I AR kNG FR %8 (Bowman s

capsule)?

(@ 7K

(b) =¥ (ions)

(c) FE(sugar)

(d) IfiL3¥ & A (plasma proteins)
(e) MR (amino acids)

During pressure filtration in the glomerulus, which of the following does not enter
Bowman’s capsule from the bloodstream?

(@) water

(b) ions.

(c) sugar

(d) plasma proteins
(e) amino acids

10. KHBAS B G ARHRRT, R BT A 1 3 2 L i 2
(8) 0B ok 0 0
(b) BRI
(C) bk b By e
(d) WP
(&) TREAI I

Which of the following is a physiological response that takes place in many animals when

they get too hot?
(@) increase blood flow to the skin
(b) slowing of the heart rate
(c) constriction of blood vessels in the skin
(d) constriction of muscles
(e) retention of water
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11, TR B AS 2 5 AR (1) )& 5 (sense of balance) ?
(@) WH (inner ear)
(b) 2} (semicircular canals)
(c) EUET40M (hair cells)
(d) 4P FE (utricle)
(e) JELJZHE (basilar membrane)

Which of the following structure is not involved in the human sense of balance?
(@) the inner ear
(b) the semicircular canals
(c) hairs cells
(d) the utricle
(e) the basilar membrane

12, NAR K A IR 8 43 47 Bt W 1A B 4k 1) 52 B2 )
(@) [Irfii(thalamus)
(b) " Ffii(hypothalamus)
(c) T (brainstem)
(d) Kfi¥i(cerebrum)
(e) /INixi(cerebellum)

Which part of the human brain is responsible for detailed coordination of movements?
(@ thalamus.
(b) hypothalamus.
(c) brainstem.
(d) cerebrum
(e) cerebellum

13. T A ] & A T 2 (shoots) f) [ 6 1% S . (phototropic responses) ?
(@) A K ZE (auxins)
(b) 7% % (gibberellins)
(c) 4y %3 (cytokinins)
(d) Bi7% R (abscisic acid)
(e) )% (ethylene)

Which of the following types of hormones mediates the phototropic responses of shoots?
(@ auxins
(b) gibberellins
(c) cytokinins
(d) abscisic acid
(e) ethylene
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14. £ HUIRE > 2 (meiosis)id B, S BORZ Ge (04 1Y 531 (tetrads) HE 51 76 40 i i ]2
(@) ZrZ4[E3 | (interphase 1)
(b) I 1 (prophase I)
(c) 1 1 (metaphase 1)
(d) J53# 11 (anaphase I1)
(e) HHH 1l (metaphase I1)

During which of the following stages of meiosis are chromosome tetrads lined up in the
centre of the cell?

(@) interphase |
(b) prophase |
(c) metaphase I
(d) anaphase Il
(e) metaphase Il

15. Kt S A DNA 2 RNA B FEFR N
(@) #:¥& (translation)
(b) %% (transcription)
(c) Jazh (initiation)
(d) LK (elongation)
(e) EHl (replication)

The transfer of genetic information from DNA to RNA is called
(@) translation

(b) transcription

(c) initiation

(d) elongation

(e) replication

16. 1E%H 55 A YL f44 (sex chromosomes) fZEL B A 7] 2
(d) W%k X Jetifk
(b) Pigk Y Jetafk
(€) Wiz X Pt fl—5% Y Gutafh
(d) —& X PEEF—%Y Getafk
(e) —%k Y Jtufk

What is the normal complement of sex chromosomes in a human male?
(f) two X chromosomes
(g) two Y chromosomes
(h) two X chromosomes and one Y chromosome
(i) one X chromosome and one Y chromosome
(J) oneY chromosome
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17. "N Ha] 2w ) A Sy 3k K] 82 4H (genetic recombination) (/)i 14 (vectors) ?
(2) 4HTHE 5k (bacterial plasmids)
(b) #:4\ ¥ (operons)
(c) MiEsi 1A (phages)
(d) 42 -F-(exons)

(e) aflcEHz

Which of the following kinds of entity can serve as DNA vectors for genetic recobination?
(@) bacterial plasmids
(b) operons
(c) phages
(d) exons
(e) bothaandc

18. | F LK T 7% (genetic engineering) A /E A 72 R FIA] b= i 2
(@) J% i (vaccines)
(b) A&k 2 (human insulin)
(c) ALK P (human growth hormone)
(d) PLEER
(e) PAEEAE

Genetic engineering techniques are used to produce which of the following products?
(@) vaccines

(b) human insulin

(¢) human growth hormone

(d) all of the above

(e) none of the above

19. {E#HF FAK (tropical forest) H A 4 i) o T 45 ¥4 (vertical structure) /& RN 75 A5 2 KB A
(@) 7KZr (moisture)
(b) & (nitrogen)
(c) —%AkA% (carbon dioxide)
(d) w45 (minerals)
(&) Bk (light)

The vertical structure of the tropical forest is due to the intense competition for
(@) moisture.
(b) nitrogen.
(c) carbon dioxide
(d) minerals

(€) light
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20. FHMAFhIE T A K 2 (population growth) 4>k F| 2 1 K. 2

(a)
(b)
(©)
(d)
(€)

WA AT NI AL N

RISV TFHE L0 2.25 B (e Horp FR e RET|RA AT /NZ)
B AL N — AN

AN HARET 2.0

N A RLEF NFETR

A human population will achieve zero population growth if

(a)
(b)

no one has more than two children

couple have an average of about 2.25 children each (to allow for the fact that some
people have no child)

(¢) no one has more than one child
(d) the birth rate equals to 2.0
(e) the birth rate equals to the death rate
21. TE475 A%t (ecosystems) H1, Rl 2 e, {5 S AW AL o
(@) # YFi(minerals)........ fAe = (energy)
(b) {7 S (genetic information)........ F: [ (genotypes)
(c) HHMAYI(organic compounds)........ 7/
(d) AefE........ W) )5t (materials)
() BEW....... HE &
In ecosystem, the flow of _is one-way, while ___are constantly cycled.
(@ minerals........ energy
(b) genetic information........ genotypes
(c) organic compounds........ minerals
(d) energy........ materials
(e) food........ energy

22. Endau Rompin [E 2 2 [7El (National Park)7E E > 76 V. [& Z A — M 4 2

(@)
(b)
(©)
(d)
(€)

"5 M (Perak)
w7 M (Pahang)

F M (Johor)

Wb M (Sarawak)

I (Sabah)

Endau Rompin National Park is located at state, Malaysia.

(@)
(b)
(©)
(d)
(€)

Perak
Pahang
Johor
Sarawak
Sabah
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23. WURDUETEFN IR AAR, Al NS ABOE 2] 80 2K =2 it

(a)
(b)
(©)
(d)
(€)

2010
2020
2093
3150
JLE T4

If the current growth rate continues, it is projected that the human population will reach
approximately 8 billion people by

(@)
(b)
(©)
(d)
(€)

2010
2020
2093
3150
a few million years from now

24. EEZE (mushroom) AJ HBL R FI{a] FhIhRE 2

(@)
(b)
(©)
(d)
(€)

7= A 7 - (spores)

F= A A i (zygotes)

FLI# (fungus) #7877 (nutrition)
DL b B

Hfafbz

Which of the following functions does a mushroom perform?

(@)
(b)
(©)
(d)
(€)

production of spores
production of zygotes
nutrition of the fungus
all of the above

both aand b

25. i A ke

(@)
(b)
(©)
(d)
(€)

H—AEZ A HH (cell) 41K

B Z AR (molecules)

BEAT Z AN RIFE AL B (chemical processes)
WAL BURLEE DNA A

DL e

All organisms

(@)
(b)
(©)
(d)
(€)

are composed of one or more cells

contain many of the same molecules

carry out many of the same chemical processes
encode their genetic information in DNA

all of the above



